A DO HEET LR R

&8
i H27 H28 H29 H30 H31
" BEE | HEE | = | BEE | HEE | = | sHE | iEE 0 = | aHE | iEE | = | sHE | iEE | =
0 957 1,082: -125 996 1,074 -78 982 1,064 -82 970 1,057 -87 947 1,037 -90
1 1,020 1,078 -58 962 1,073¢ —-111 993 1,065 =72 979 1,055 -76 967 1,048 -81
2 1,059 1,084 -25 1,019 1,077 -58 960 1,072 —-112 991 1,064 -73 977 1,054 =77
3 1,017 1,011 6 1,055 1,077 -22 1,006 1,070 -64 947 1,065 -118 978 1,057 -79
4 1,081 1,101 -20 1,009 1,006 3 1,051 1,072 -21 1,003 1,065 -62 944 1,060 —-116
5 1,030 1,046 -16 1,078 1,097 -19 1,005 1,002 3 1,047 1,068 =21 999 1,061 -62
6 1,075 1,117 -42 1,019 1,043 -24 1,076 1,094 -18 1,003 999 4 1,045 1,065 -20
7 1,034 1,054 -20 1,074 1,115 -41 1,017 1,041 -24 1,074 1,092 -18 1,001 997 4
8 1,120 1,124, 4 1,032 1,055; -23 1,075 1,116 —41 1,018 1042, -24 1,075 1,093; -18
9 1,049 1,061; 12 1,118 1,1238 -5 1,034 1,054:  -20 1,077 1,115] -38 1,020 1,041 21
10 1,035 1,031 4 1,055 1,061 —6 1,122 1,123: 1 1,038 1,054: 16 1,081 1,115; -34
11 1,054 1,054 0 1,035 1,036: 1 1,055 1,066: 11 1,122 1128 6 1,038 1,059° 21
15
i H27 H28 H29 H30 H31
T EuE  iEE | = | BFE | e | = | BoE | idEE | = | BuE | idHEE | = | mEpE | iEE | =
3 1,017 1,011 6 1,055 1,077 -22 1,006 1,070 -64 947 1,065 -118 978 1,057 -79
4 1,081 1,101 -20 1,009 1,006 3 1,051 1,072 -21 1,003 1,065 -62 944 1,060 -116
5 1,030 1,046 -16 1,078 1,097 -19 1,005 1,002 3 1,047 1,068 -21 999 1,061 -62
= 3,128 3,158 -30 3,142 3,180 -38 3,062 3,144 -82 2997 3,198 -201 2,921 3,178 —-257
25
i H27 H28 H29 H30 H31
" EBE | iEE | = | eFE | e | = | BoE | idEE | = | B5E | gHEE | = | =pE | stEE | =
3 1,017 1,011 6 1,055 1,077 -22 1,006 1,070 -64 947 1,065 -118 978 1,057 -79
4 1,081 1,101 -20 1,009 1,006 3 1,051 1,072 -21 1,003 1,065 -62 944 1,060: -116
5 1,030 1,046 -16 1,078 1,097 -19 1,005 1,002 3 1,047 1,068 -21 999 1,061 -62
&t 3,128 3,158 -30 3,142 3,180 -38 3,062 3,144 -82 2,997 3,198: -201 2,921 3,178: —-257
38 (0%%)
b H27 H28 H29 H30 H31
T EuE | iEE | = | BFE | e | = | BoE | iEE | = | e | iHEE | = | spiE | sEE | =
0 957 1,082: -125 996 1,074 -78 982 1,064 -82 970 1,057 -87 947 1,037 -90
38 (1 ~28%)
i H27 H28 H29 H30 H31
T EuE | iEE | = | BFE | e | = | BoE | iEE | = | BuE | dHEE | = | mpiE | sEE | =
1 1,020 1,078 -58 962 1,073: —-111 993 1,065 =72 979 1,055 -76 967 1,048 -81
2 1,059 1,084 -25 1,019 1,077 -58 960 1,072: —-112 991 1,064 -73 977 1,054 =77
_‘é‘§+ 2,079 2,162 -83 1,981 2150 -169 1,953 2137: —-184 1,970 2119: -149 1,944 2,102: -158
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